= AL xof diste] 54 ax? + 2ax + 3 > 00| A HotE S Sf=

o adl MeE?

@ 174 @ 274 ® 374 @ 474 ® 571



BE 8% v, yol dieted vimaZ—mx+ 27} 00] opyl A4 A%
m el k] WL

D 0<m<4 @ 4<m<8 ®0<m<8

@ 4<m<8 ® m=>8



3. A AEa, b, coll A [a, b, o] = (a-b)(a-c)2t T T,
la, b, c] +[b, ¢, a] + [c, a, b] = 0°]WA [a, b, ] 2] FF27

Do @1 ® 2 @ 3 ® 4



4. A% a, b, col WA [a, b, ¢] = a® + beF SFAL x +y +z = 10,
P+y?+2Z2 =129, [x, 2y, 7 + [, 22, x] + [z, 2x, y] ] BE2?

@® 10 @ 22 ® 88 @ 100 ® 144



= {x|x= 12 0I5} &5, B = (x| x& 3 14 5 °|5H<]
]

AT A °
Agejel Hhske] X c A, B e xolx FE X o D40] A5t 5 2 AE
X 9] 7j5-& Fafoler.

YEE 7



T A A= (x| x=10 014 15 05te] AAAS ), B = (x| x =
olAF 18 t|qte] 3 9] uljr jof tiate] th 2HS whEohe A X
= S

(1]

27]

XCA, BCX, n(X)=4




(1]

B7]

@ ab=0 © a®>+b*=0

© a®*+b2>0 ® a=0°2b=0

@a=0EE=b=0
D az0FE=b+0

@ a#00°] b0

® a=0°]1b+0

© ab=0°]2 b +0

ORQESC)
@ @<

ONEEC) @ 671 ®
® 6% ®






xof e oA f(x)E x4+ 12 A YA 7 x4+ 102, x -1
2 U Y2740tk o] b f(n)E (P +1)(x-1) & Y=
ofj o] U 2] 9] AFekS Eotof )

5 L
=%



10. xof #F A f(x)E x? + 12 YA YA 7F x+10]31, x -1
2 Uper e 27} o]tk o] Tk (08 (2 + 1)(x—1) 2 Lz
o, L 2] o] AL

@® 4 @ 3 ® 2 @1 ® 0



e
|
(=
+
<
+
=
NS
+
N
=
<

o1
ok o

L
T

Bzt

ati, a8

KoX
ES

pY o=

o =
]

p=2-1

V2,

O «a

V2

=V2+1, p

® a

=V2+1, p=-vV2-2

@ «

2-1

\/5_13 p

® a



il
]

® 3

@1

@ o0

®0,1,3

@ 0,3



_ 1 _
13, AFPIEA Lot bad bt extd = 0 SHAPPERA L2 (1) =0

2 AP T4 £(x), g(x) 2 Z17F AT, o W, atbtc+d

w

o] ghe?
yl\
y=g(z)
o 2 o |
| xr
y=f(z)
o4 02 o3 @I 062



28, o8 A

{0} =4f(x) -39
@© 174 @ 274
@ 47H @ 67H

y=[(2)
4|--
y=3
2
JE— y=1
6] T




o O
TRl
NS
+ o+
=2 »
S =
+ +
N AN
= =
———

ol

® 2

@ 1



Mo wx

16. 5 o]APYAA x2 +ax + 2b = 0, x2 + bx + 2a = 0°] 5L 7}
Ao g th-2 AW F 22 Aozg Ax]oj A7 (¢, T

(I—I') a+b= —201% _Q_;i]‘ Sl 7H9/] 510—%%’% ;J._E_E]_

€) a=bolAtha+b = —209 Zolx 3 7|9 BE2L

Zrech.
B a+b=-20lTa%-10]% 92 ¢ Ao TE2L
Zrect.
© O), @ o), U ® @

@ (), & ® @



